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UG/5th Sem/PHS/G/21(CBCS) 

 

UG 5th Semester Examination 2021 

PHYSICS (General) 

Paper: DSE-1  

[CBCS] 

Full Marks: 32                                   Time: Two Hours 

 

The figures in the margin indicate full marks. Candidates are required to give their answers in their own 

words as far as practicable. 

 

DSE-1A 

Advanced Mathematical Methods-I  

[CBCS] 

1. Answer any six of the following questions.     6×2=12 

(a) Find the poles of the given complex function 
12𝑧−7

(𝑧−1)2(2𝑧+3)
 . 

(b) Expand the function 
1

𝑧2−3𝑧+2
 in the region |𝑧| > 2 

(c) Determine whether or not each of the following sets is a null set. 

(i)𝑋 = {𝑥: 𝑥 𝑖𝑠 𝑎𝑛 𝑖𝑛𝑡𝑒𝑔𝑒𝑟 𝑎𝑛𝑑 𝑥2 − 5𝑥 + 1 = 0} 

(ii)𝑌 = {𝑥: 𝑥 ≠ 𝑥} 

(d) Let the functions 𝑓: 𝑹 → 𝑹 and 𝑔: 𝑹 → 𝑹 be defined by 

𝑓(𝑥) = 𝑥2 − 4𝑥 − 3,  𝑔(𝑥) = 3𝑥 − 5 

                            Find the formula defining product functions 𝑓 ° 𝑔 and 𝑔 ° 𝑓  . 

(e) Show that the Complex field ℂ is a vector space over the real field ℝ. 

(f) Define Idempotent matrix and Nilpotent matrix. 

(g) Show that an n × n orthogonal matrix has n (n − 1)/2 independent parameters. 

(h) Calculate the probability of drawing an ace from a pack of cards. 

(i) If A and B are two elements such that 𝑃(𝐴) =
2

3
, 𝑃(𝐵) =

3

4
, 𝑃(𝐴 ∩ 𝐵) =

1

2
, then find 𝑃(𝐴 ∪ 𝐵). 

(j) Prove that a matrix A and its transpose 𝐴′ have the same characteristic roots. 
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2. Answer any four of the following questions.     4×5=20 

(a) Find the eigen values of the matrix 𝐴 = [
3 1 4
0 2 6
0 0 5

].                                                          5 

(b) Determine whether the following series converge: 

  (i) ∑
2sin (𝑛𝜃)

𝑛(𝑛+1)
∞
𝑛=1    (ii)∑

𝑛𝑝

𝑛!
∞
𝑛=1                                                 5 

(c) Consider the vector space 𝐸3  with the Euclidean inner product. Apply the 

Gram-Schmidt process to transform the basis 
 

|1⟩ = (1,1,1), |2⟩ = (0,1,1), |3⟩ = (0,0,1) 

into an orthonormal basis.        5 

(d) Show that the matrices 

𝑀(𝜃, 𝑥, 𝑧) = (
cos 𝜃 − sin 𝜃 𝑥
sin 𝜃 cos 𝜃 𝑧

0 0 1
) 

where 0 ≤ 𝜃 < 2𝜋, −∞ < 𝑥 < ∞ 𝑎𝑛𝑑 − ∞ < 𝑧 < ∞, form a group under multiplication.    5 

 

(e)  Prove that the set of all integers I form an abelian group with respect to binary operation. 

                                                                          5 

(f)  Determine the range of values for which the following power series converges: 

                                                                           𝑃(𝑧) = 1 −
𝑧

2
 + 

𝑧2

4
−

𝑧3

8
+. . ..                                      5 

(g) Prove: 𝐴 × (𝐵 ∪ 𝐶) = (𝐴 × 𝐵) ∪ (𝐴 × 𝐶)                                                                                  5      

 
 

বঙ্গানুবাদ 

 

 

1.  নিচের যেক োক ো ছয়টি প্রচের উত্তর দাও। 
 
(a) ন কের জটিল অকেক্ষ টির যেরু(pole)  ন র্ণয়  র- 

(12𝑧 − 7)/(𝑧 − 1)2(2𝑧 + 3)  
(b) |𝑧| > 2  অঞ্চকল প্রদত্ত অকেক্ষ টিক  প্রসোনরত  র – 

1

𝑧2 − 3𝑧 + 2
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(c) ন কের যসট গুনল null- যসট ন   ো ন র্ণয়  করো- 
 
(i)𝑋 = {𝑥: 𝑥 একটি অখণ্ড  সংখযা  এবং 𝑥2 − 5𝑥 + 1 = 0} 
(ii)𝑌 = {𝑥: 𝑥 ≠ 𝑥} 

(d) দুটি  অকেক্ষ  𝑓: 𝑹 → 𝑹   এবং   𝑔: 𝑹 → 𝑹 এে  যে- 
                         𝑓(𝑥) = 𝑥2 − 4𝑥 − 3,  𝑔(𝑥) = 3𝑥 − 5, 
 
তোহকল 𝑓 ° 𝑔  এবং 𝑔 ° 𝑓 এর েো  ন র্ণয়  র। 

(e) যদখোও যে জটিল যক্ষত্র ℂ হল বোস্তব যক্ষত্র ℝ এর উের এ টি যেক্টর যক্ষত্র। 
(f) ইনিেকেোকটন্ট েযোট্রিক্স  এবং   ীলকেোকটন্ট েযোট্রিক্স -এর সংজ্ঞো দোও| 
(g) যদখোও যে এ টি 𝑛 × n অক ণ্োক ো োল েযোট্রিক্স এর যক্ষকত্র স্বোধী  প্রোেকলর সংখযো 𝑛(𝑛−1)

2
। 

(h) তাচের প্যাচেট থেচে এেটি থটক্কা েোওয়োর  েম্ভাবিা গণিা  র । 

(i) যনদ A এবং B দুটি ঘটিা এে   থয 𝑃(𝐴) =
2

3
, 𝑃(𝐵) =

3

4
, 𝑃(𝐴 ∩ 𝐵) =

1

2
, তকব 

𝑃(𝐴 ∪ 𝐵) এর েো  ন র্ণয়  র। 
(j) যদখোও যে এ টি েযোট্রিক্স 𝐴 এবং তোর  ট্রোন্সকেোজ েযোট্রিক্স 𝐴′এর ববনিষ্টেুক্ত বীজ এ ই| 

  
 
 

2. নিচের যেক োক ো েোরটি প্রচের উত্তর দাও। 
 

(a) 𝐴 = [
3 1 4
0 2 6
0 0 5

]  েযোট্রিক্সটির আইক   েো   ন র্ণয়  র| 

(b) ন কের যের্ীগুনল অনেসোরী ন  ো ন র্ণয়  র-  
(i) ∑

2𝑠𝑖𝑛𝑛𝜃

𝑛(𝑛+1)
∞
𝑛=1    (ii)∑ 𝑛𝑝

𝑛!
∞
𝑛=1  

(c) এ টি যেক্টর যেস 𝐸3 যত ইউনিিীয় ই োর যপ্রোিোক্ট আকে। গ্রোে -নি্ েদ্ধনত প্রকয়ো   কর ন কের যবনসস 
|1⟩ = (1,1,1), |2⟩ = (0,1,1), |3⟩ = (0,0,1) 
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 য  এ টি অক্ণো েণোল যবনসস এ রূেোন্তনরত  র। 

(d) যদখোও যে এই েযোট্রিক্স  
  

𝑀(𝜃, 𝑥, 𝑧) = (
cos 𝜃 − sin 𝜃 𝑥
sin 𝜃 cos 𝜃 𝑧

0 0 1
) 

                   গুর্ক র যক্ষকত্র গ্রুে বতরী  কর, যেখোক  0 ≤ 𝜃 < 2𝜋, −∞ < 𝑥 < ∞  ও − ∞ < 𝑧 < ∞ | 

(e) প্রমাণ  র   থয েমস্ত পূ্ণণেংখ্যার থেট , বাইিানর নিয়ােলাচপ্র থেচে এেটি আচবনলয়াি গ্রুপ্ গঠি   কর| 

(f) ন কের েোওয়োর নসনরজ টি য ো  যরকে অনেসোরী হকব ন র্ণয়  র 
                              𝑃(𝑧) = 1 −

𝑧

2
 + 𝑧2

4
−

𝑧3

8
+. . ..                  

(g) প্রেোর্  র 𝐴 × (𝐵 ∪ 𝐶) = (𝐴 × 𝐵) ∪ (𝐴 × 𝐶)। 
 

 
 

------------------------------- 
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DSE-1B 

Nuclear and Particle Physics 

 

Full Marks : 32                     Time : Two Hours 

 

The figures in the margin indicate full marks. Candidates are required to give their answers in their 

own words as far as practicable. 

 

1. Answer any six of the following questions.     6×2=10 

(a) What do you mean by mass defect?  What is the relation between mass defect and 

binding energy of a nucleus?      

(b) Explain why the electrons cannot exist inside the nucleus?       

(c) Define unit of atomic mass and calculate its energy equivalence in MeV.     

(d) Explain how the phenomenon of radioactivity can be applied for the determination of 

the age of the earth.                                                                                                                                                                                                                                  

(e) Calculate the half life time and mean life time of a radioactive substance whose decay 

constant is 4.28 × 10−4 per year.             

(f) What is scintillation counter?                                                                                                                                                        

(g) Define the Q-value of a nuclear reaction.    

(h)  Write down the uses of a Van de Graaff machine.  

(i) What is the difference between a cyclotron and a synchrotron?                                                                                                                   

 

2. Answer any four of the following questions.     4×5=20 

(a) Explain the principle of operation of a linear accelerator. What are its advantages over 

a cyclotron?                                              

(b) Describe a GM- counter and explain its operation. What is meant by the ‘dead time’ of 

a GM- counter?                                                                               

(c) The half -life time of radon is 4 days. After how many days will only 1/10th of radon 

sample remain behind?                                         

(d) What is 𝛽-decay and its end point energy?                      3+2 
(e) (i)An electron and a photon have the same wavelength. Which one is more energetic? 

                     (ii) What is the frequency of a 7.5 KeV photon?    3+2 
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(f) (i) 𝐻𝑒2
4 nucleus has no magnetic moment. Explain. 

(ii)What is Quark? Give the quark content of a neutron.                 2+(2+1) 

(g) Write down the mediators of the four fundamental interactions. Which statistics do W 

and Z particles obey?                                                           4+1 

 

  

বঙ্গানুবাদ 

১। যেক োক ো ছয়টি  প্রকের উত্তর দোও।                                                    6×2=12 

(a) ভর ত্রুটি বলকে ক  যবোঝ। পরমোণু ক উকিয়োকের বন্ধ  শকি এবং ভর ত্রুটির মকযে সম্পর্ক টি 
নিিকয় র্র। 

(b) কর্ি নিউনিয়়াসসর নিতসর ইসের্ট্রি থ়ার্সত প়াসর ি়া ত়া ব্য়াখ্য়া র্র। 
(c) পোরমো কব  ভর এ    ী? এর েমেুলে শকি MeV এ ক  নির্কয় র্র। 
(d) কতজনিয়ত়ার ঘটি়াটি র়্াসজ ে়ানিসয় পৃনথব্ীর আয়ুস্ক়াে র্ীি়াসব্ নির্কসয়র র্র়া কেসত প়াসর ত়া 

ব্য়াখ্য়া র্র। 
(e) এর্টি কতজনিয় পদ়াসথকর অর্ক়ায়ু এব্ং িড় আয় ুনির্কয় র্র ে়ার ক্ষয় ধ্রুব্র্ 4.28 × 10−4 প্রনত 

ব্ছর। 
(f) Scintillation counter  ী? 
(g) ক উকিও কবকিয়োর Q-েংখ্েো সংজ্ঞ়ানয়ত র্র। 
(h) Van de Graaff েন্ত্রটির বেবহোর উকেখ্  র। 
(i) স়াইসি়াট্রি এব্ং নসিসর়াট্রসির মসর্য প়াথকর্য র্ী? 

     ২। যেক োক ো চোরটি প্রকের উত্তর দোও। 4×5=20 

(a) Linear accelerator-এর িীনত ব্য়াখ্য়া র্র। স়াইসি়াট্রসির তুেি়াসত এর সুনব্র়্া র্ী? 
(b) নজএম-র়্াউন্ট়াসরর িঠি এব্ং র়্ােকপ্রর়্ােী ব্িকি়া র্র। নজএম-র়্াউন্ট়াসরর ' dead time ' ব্েসত 

র্ী কব়্াঝ? 
(c) করডসির অর্ক়ায়ু 4 নদি। র্ত নদি পর করডসির িমুি়ার ম়াত্র 1/10 ি়াি পসর থ়ার্সব্? 
(d) β-ক্ষয় ব্েসত র্ী কব়্াঝ এব্ং এর অনিম নব্নু্ু্ শনি র্ী? 
(e) (i) এ ই েরঙ্গ দদর্্ঘে কবকশষ্ট এ টি ইকল ট্র  এবং য োট  আকছ।  োর শকি েুল োমূল  

ভোকব যবশী? 
    (ii) 7.5 KeV শকি েম্পন্ন য োটক র  ম্পোঙ্ক  ে?                      3+2               
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(f)  (i) 𝐻𝑒2
4য ন্দ্রক র য ো  যচৌম্ব  ভ্রোম  য ই। বেোখ্েো  র। 

     (ii) য োয়ো ্  ী? এ টি ক উট্রক র য োয়ো ্ গঠ  যলখ্।                2+(2+1) 

(g) নব্শ্বব্রহ্ম়াণ্ডর চ়ারটি কমৌনের্ ব্সের মর্যস্থত়ার়্ারী র্র়্া গুনের ি়াম কেখ্। W এবং Z  কণা ককান ্‌ 
পরিসংখ্যান কেনন চনে?                                                                                                             4+1 

 
 
 

------------------------- 
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DSE-1C 

            Applied Dynamics 
 

Full Marks : 25                                                    Time : Two Hours 

 

The figures in the margin indicate full marks. Candidates are required to give their answers in their own 

words as far as practicable. 

 

1. Answer any five of the following questions.     5×2=10 

(a) Define fixed points. What are the different types of fixed points? 

(b) Find all fixed points for 𝑥̇ = 𝑥2 − 1. Comment on their stability with 

justification. 

(c) Graph the potential for the system 𝑥̇ = −𝑥 and identify all the equilibrium 

points. 

(d) Give any two examples of Fractals in nature. 

(e)  Show that  𝑥𝑛+1 = 1 +
1

2
sin 𝑥𝑛has a unique fixed point. Is it stable? 

(f) For a map 𝑦𝑛+1 = 𝑦𝑛
3, find and classify all fixed points. 

 

(g) Draw the phase space of a particle moving under uniform gravity. 

 

 

2. Answer any three of the following questions.     3×5=15 

(a) Define Liapunov exponent for a chaotic system. Find the Liapunov 

exponent for the map  𝑥𝑛+1  =  𝑓(𝑥𝑛) , where 

     𝑓(𝑥) = {
𝑟 𝑥, 0 ≤ 𝑥 ≤ 1/2

𝑟 − 𝑟𝑥,   
1

2
≤ 𝑥 ≤ 1

. 

(b) Show that the Cantor set is uncountable. 

 

(c)  Show that the logistic map 𝑥𝑛+1  =  𝑟𝑥𝑛(1 − 𝑥𝑛) can be transformed into a 

quadratic map 𝑦𝑛+1 = 𝑦𝑛
2 + 𝑐 by a linear change of variable: 𝑥𝑛 = 𝑎 𝑦𝑛 + 𝑏, 

where 𝑎 and 𝑏 are to be determined. 
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(d) Derive normal frequencies for free vibration of a linear triatomic molecule 

of equal masses m and spring constant k. 

 

(e) Lotka-Volterra model of competition is given by  

𝑥̇ = 𝑥(3 − 2𝑥 − 𝑦) 

𝑦̇ = 𝑦(2 − 𝑥 − 𝑦) 

Find the fixed points of the equation and determine their stabilities.  

 

 

বঙ্গানুবাদ 

 

১। যেক াকনা পাাঁচটি প্রকের উত্তর দাও।                                                    5×2=10 

(a) Fixed point-এর সংজ্ঞা দাও। বিবিন্ন ধরনের fixed point গুলি কী   

(b) 𝑥̇ = 𝑥2 − 1 সমীকরণের সব fixed point গুলি বার কর। কারণসহ তানদর স্থাব়িত্ব বেন়ি মন্তিয 
কর। 

(c) System 𝑥̇ = −𝑥 এর লবভববর লিখলিত্রটি অঙ্কন কর এবং সমস্ত equilibrium point গুলি 
বিবিত কর। 

(d) প্রকৃবতনত ফ্র্যাক্টানের যে যকানো দুটি উদাহরণ দাও। 
(e)  লেখাও লে  𝑥𝑛+1 = 1 +

1

2
sin 𝑥𝑛 এর একটি অেেয বেবদি ষ্ট fixed point আনে। এটা বক 

stable? 
(f)  𝑦𝑛+1 = 𝑦𝑛

3 ম্যাবের জনয সব fixed point গুলি লখাোঁ জ এবং লেণীবদ্ধ কর। 
(g)  অবিকনষির অধীনে িেমাে একটি কণার যেজ যেস অঙ্কে কর। 

 

২। যেক াকনা তিনটি  প্রকের উত্তর দাও।                                                           3×5=15 

(a) একটি chaotic বসনেনমর জেয Liapunov সূিক সংজ্ঞাব়িত কর। Map  𝑥𝑛+1  =  𝑓(𝑥𝑛)-এর 
জনয Liapunov সূিক িার কর, যেখানে  
 

𝑓(𝑥) = {
𝑟 𝑥, 0 ≤ 𝑥 ≤ 1/2

𝑟 − 𝑟𝑥,   
1

2
≤ 𝑥 ≤ 1

 

(b) দেখাও দে কযান্টর দসট অগণেত। 
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(c) 𝑥𝑛 = 𝑎 𝑦𝑛 + 𝑏 সম্ীকরণ দ্বারা যিবরন়িিনের ররবখক পবরিতি নের মাধযনম লেখাও লে logistic 

map 𝑥𝑛+1  =  𝑟𝑥𝑛(1 − 𝑥𝑛) লক quadratic map 𝑦𝑛+1 = 𝑦𝑛
2 + 𝑐 -লে েলরণে করা 

োবব । এখানে 𝑎 এবং 𝑏 –যক বেণি়ি করনত হনি। 
(d) সমাে িনরর m এিং বরং ধ্রুিক k লবলিষ্ট একটি ররবখক বিপরমাণুক(triatomic) অণুর মুক্ত 

কম্পনের জেয স্বািাবিক কম্পাঙ্ক বেণি়ি কর। 
(e)  যোটকা-যিানেরার প্রবতনোবিতা মনেেটি হে 

𝑥̇ = 𝑥(3 − 2𝑥 − 𝑦) 

 𝑦̇ = 𝑦(2 − 𝑥 − 𝑦) 
 

Fixed point গুবে বেণি়ি কর এিং তানদর stability বেণি়ি কর। 
 

----------------------- 
 
 
 

 



DSE-1D 

Communication Electronics 

 

Full Marks : 25                  Time : Two Hours 

 

The figures in the margin indicate full marks. Candidates are required to give their answers 

in their own words as far as practicable. 

 
1. Answer any five questions :                                                                        2 × 5 = 10 

 

(a) Draw a block diagram for communication system.  

 

(b) What is signal-to-noise ratio?  

 

(c) Obtain the frequency spectrum of AM wave.  

 

(d) State the sampling theorem in analog pulse modulation.  

 

(e) Why do we need multiplexing in communication? 

  

(f) What is encoding in pulse code modulation?  

 

(g) Mention two advantages in satellite communication. 

 

(h) What is SIM number in mobile communication? 

 

2. Answer any three questions:                                                                      5 × 3 = 15 

 

(a) What is modulation? Why do we need modulation? What will be the 

approximate size of antenna for sending a signal of frequency 1 kHz?    1+2+2 

 

(b) What is amplitude modulation? Obtain an expression for modulation index. 

Draw the waveform of AM wave.                                                           1+3+1 

 

(c) Explain briefly about the detection of FM wave with a circuit diagram. Write 

two differences between FM wave and AM wave.                                      4+1 

 

(d) Discuss about different types of analog pulse modulation.                             5                                                                                             

 

(e) Draw a block diagram of mobile communication. What is cell splitting and 

hands-off? Why do we need IMEI number of a mobile?                  2+(1+1)+1 

 

 

 

 



বঙ্গানুবাদ 

 

1. যে য াননা পা াঁচটি প্রনের উত্তর দাও:                        2x5=10 

 

(a) যোগানোগ বযবস্থার ব্ল  ন শাটি অঙ্কন  র।  

 

(b) Signal-to-noise অনুপাত বলনত  ী যবাঝ?  

 

(c) AM তরনঙ্গর  ম্াাং -বর্ ণালী রাশশমালাটি শনর্ ণয়  র।  

 

(d) Analog pulse modulation এর যেনে sampling উপপাদযটি শববৃত  র।  

 

(e) যোগানোগ বযবস্থায় multiplexing এর প্রনয়াজনীয়তা  ী?   

 

(f) Pulse code modulation এ Encoding বলনত  ী যবাঝ?  

 

(g)  স্যানিলাইি যোগানোগ বযবস্থার দুটি স্ুশবধা উনেখ  র।  

 

(h) যমাবাইল যোগানোগ বযবস্থায় শস্ম নম্বর  ী?  

 

2.  যে য াননা শতনটি প্রনের উত্তর দাও:                 5x3=15 

 

(a) মডুনলশন  ী ? ইাার প্রনয়াজনীয়তা উনেখ  র।  kHz  ম্াাংন র য াননা 

শস্গনযালন  পাঠানত  ত বড় অযানেনার প্রনয়াজন?                           +2+2 

 

(b) Amplitude modulation  ী ? Amplitude modulation index এর রাশশমালাটি 

শনর্ ণয়  র।  AM তরনঙ্গর তরঙ্গশচেটি  অঙ্কন  র।                                       +3+  

 

(c)  বতণনী স্ানোনগ FM তরনঙ্গর স্নাক্ত রর্টি স্াংনেনপ আনলাচনা  র।   FM ও 

AM তরনঙ্গর দুটি পার্ ণ য যলখ।                                                           4+  

 

(d) শবশিন্ন প্র ার Analog Pulse Modulation স্ম্বনে স্াংনেনপ আনলাচনা  র।  5 

                                                                                                                        

(e) যমাবাইল যোগানোগ বযবস্থার ন শাটি অঙ্কন  র। cell splitting ও hands-off  

বলনত শ  যবাঝ? যমাবাইনলর IMEI নম্বনরর প্রনয়াজনীয়তা  ী?      2+(1+1)+1 

 

 

___________ 
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